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Unit: Limits Practice with Limits

Limits Graphically
ﬂur questions #1- 18, refer to the graph of f(x) below to evaluate the following limits.
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For questions # 19 — 30, refer to the graph of f(x) below to evaluate the following limits.
19)_DVE  lim f(x)  20) [} VE lim f (x)

20O lim f(x)  22) o4 lim f(x)

23) 2 limfx) 2400 T lim f(x)

x=-1"

25) M/ lim £(x) 26) R TR

x——4*

27) D lim f(x) 28) O f(-4)

=4

29 U ro) 300 LNG 5o /(D)




LIMITS ALGEBRAICALLY

Find each limit algebraically. Complete all work on a separate sheet of paper. Place final answers on the

line provided.
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